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Practice problem 1: 
Find ݒଵ		ܽ݊݀	ݒଶ by using nodal analysis method 

ଵݒ ଶݒ

݅1

݅3

݅2

Solution: 
Express resistor currents: 

݅ଵ ൌ
ଵݒ
4

݅ଷ ൌ
ଵݒ െ ଶݒ

8

݅ଶ ൌ
ଶݒ
4

൞

ଵݒ
4
൅
ଵݒ െ ଶݒ

8
ൌ 6

െ
ଶݒ
4
൅
ଵݒ െ ଶݒ

8
ൌ 3

൜
ଵݒ ൌ 15ܸ
ଶݒ ൌ െ3ܸ

:ଵݒ	ݐܽ	ܮܥܭ 			݅ଵ ൅ ݅ଷ ൌ 6

െ݅ଶ	ଶ:ݒ	ݐܽ ൅ ݅ଷ ൌ 3

൜
ଵݒ3 െ ଶݒ ൌ 48
ଵݒ െ ଶݒ3 ൌ 24
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3݅1Practice problem 2: 
Find ݅ଵ by using nodal analysis 
method. 

How many node voltages? 
݅2 ݅3

ଵݒ ଶݒ

Solution:

݅ଶ ൌ
ଵݒ
2

݅ଵ ൌ
ଶݒ െ ଵݒ

1
;

݅ଷ ൌ
ଶݒ
3

൜
െ3ݒଵ ൅ ଶݒ4 ൌ 8

െ6ݒଵ ൅ ଶݒ5 ൌ െ15

൞
ଵݒ ൌ

100
9

ܸ

ଶݒ ൌ
31
3
ܸ

݅ଵ ൌ ଶݒ െ ଵݒ ൌ െ
7
9
ܣ ൌ െ0.778ܣ

KCL	at		ݒଵ: 		݅ଵ െ ݅ଶ െ 3݅ଵ ൌ െ4
at  ݒଶ: 	3݅ଵ െ ݅ଵ െ ݅ଷ ൌ െ5

2݅ଵ ൅ ݅ଶ ൌ 4
2݅ଵ െ ݅ଷ ൌ െ5 ൞

2
ଶݒ െ ଵݒ

1
൅
ଵݒ
2
ൌ 4

2 ଶݒ െ ଵݒ
1

െ
ଶݒ
3
ൌ െ5
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Practice problem 3: Form 3 equations for ݒଵ, ,ଶݒ ଷݒ

ଵݒ ଷݒ
ଶݒ

5A1Ω

4Ω

݅2

݅4
݅3

݅5

Solution:

݅ଵ ൌ
ଶݒ െ ଵݒ

4
; ݅ଶ ൌ

ଷݒ െ ଵݒ
1

݅ଷ ൌ
ଵݒ
2
; ݅ସ ൌ

ଶݒ
2
;

݅ହ ൌ
ଷݒ െ ଶݒ

4

ଶݒ െ ଵݒ
4

൅
ଷݒ െ ଵݒ

1
െ
ଵݒ
2
ൌ െ20

െ
ଶݒ െ ଵݒ

4
െ
ଶݒ
2
൅
ଷݒ െ ଶݒ

4
ൌ െ5

ଷݒ െ ଵݒ
1

൅
ଷݒ െ ଶݒ

4
ൌ 5

ቐ
െ7ݒଵ ൅ ଶݒ ൅ ଷݒ4 ൌ െ80
ଵݒ െ ଶݒ4 ൅ ଷݒ ൌ െ20
െ4ݒଵ െ ଶݒ ൅ ଷݒ5 ൌ 20

݅ଵ		ଵ:ݒ	ݐܽ	ܮܥܭ ൅ ݅ଶ െ ݅ଷ ൌ െ20;
:ଶݒ	ݐܽ									 		െ݅ଵ െ ݅ସ ൅ ݅ହ ൌ െ5;
		:ଷݒ	ݐܽ										 ݅ଶ ൅ ݅ହ ൌ 5								

R9
Practice 4: Form 3 equations for the three node voltages

4Ω

10V

5A

݅4

݅1

+ 

2Ω2Ω

8Ω

݅2
݅3

1ݒ 2ݒ 3ݒ

Solution:

݅ଵ ൌ
ଵݒ
4

݅ଶ ൌ
ଵݒ െ ଶݒ

2

݅ସ ൌ
ଷݒ
8

݅ଷ ൌ
ଶݒ െ ଷݒ

2

െ
ଵݒ
4
െ
ଵݒ െ ଶݒ

2
 +
ଶݒ െ ଷݒ

2
െ
ଷݒ
8
ൌ 0

ଵݒ െ ଶݒ
2

െ
ଶݒ െ ଷݒ

2
ൌ െ5

ଷݒ െ ଵݒ ൌ 10

ቐ
െ6ݒଵ ൅ ଶݒ8 െ ଷݒ5 ൌ 0
ଵݒ െ ଶݒ2 ൅ ଷݒ ൌ െ10

െݒଵ ൅ ଷݒ ൌ 10

Due to the floating voltage source, 
a supernode needs to be formed: 

KCL at supernode:  െ݅ଵ െ ݅ଶ ൅ ݅ଷ െ ݅ସ ൌ 0
KCL at ݒଶ:																			 ݅ଶ െ ݅ଷ ൌ െ5;	
By the 10V source:    ݒଷ െ ଵݒ ൌ 10
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Practice 5: Form 4 equations for the four node voltages

2Ω

20V

10A

ݔ݅

݅5݅2
+  +  

ݔ9݅

6Ω

3Ω

4Ω 1Ω

݅4݅3

1ݒ 2ݒ 3ݒ 4ݒ
Solution:

݅௫ ൌ
ଵݒ െ ସݒ

3

݅ଶ ൌ
ଵݒ
2

݅ସ ൌ
ସݒ
1

݅ଷ ൌ
ଷݒ െ ଶݒ

6
݅ହ ൌ

ଷݒ
4

െ
ଵݒ
2
െ
ଵݒ െ ସݒ

3
൅
ଷݒ െ ଶݒ

6
ൌ െ10

ଵݒ െ ସݒ
3

െ
ଷݒ െ ଶݒ

6
െ
ସݒ
1
െ
ଷݒ
4
ൌ 0

ଵݒ െ ଶݒ ൌ 20

ଷݒ െ ସݒ ൌ 9
ଵݒ െ ସݒ

3

൞

െ5ݒଵ െ ଶݒ ൅ ଷݒ ൅ ସݒ2 ൌ െ60
ଵݒ4 ൅ ଶݒ2 െ ଷݒ5 െ ସݒ16 ൌ 0

ଵݒ െ ଶݒ ൌ 20
ଵݒ3 െ ଷݒ െ ସݒ2 ൌ 0

Due to the two floating voltage sources, two supernodes need to be formed:

KCL at  supernode െ݅ଶ		ଶ:ݒଵݒ െ ݅௫ ൅ ݅ଷ ൌ െ10;
at supernode ݅௫െ݅ଷ			ସ:ݒଷݒ െ ݅ସ െ ݅ହ ൌ 0;	

By 20V source:   ݒଵ െ ଶݒ ൌ 20
By  9݅௫ source: 			ݒଷെݒସ ൌ 9݅௫

R9
Practice 6: Find ݒଵ, ,ଶݒ ݀݊ܽ	ଷݒ ݅ௗ௘௣

2Ω

19V

ݔ݅

݅3݅2

+ 

ݔ3݅

4Ω

3Ω

3Ω

1ݒ1݅
2ݒ 3ݒ

+


݌݁݀݅

Solution:

݅௫ ൌ
ଵݒ െ ଷݒ

4

݅ଵ ൌ
ଵݒ െ ଶݒ

3
;

݅ଶ ൌ
ଶݒ
2
; ݅ଷ ൌ

ଷݒ
3
;

ଵݒ െ ଶݒ
3

െ
ଶݒ
2
െ
ଷݒ
3
൅
ଵݒ െ ଷݒ

4
ൌ 0

ଶݒ െ ଷݒ ൌ 19

ଵݒ ൌ 3
ଵݒ െ ଷݒ

4

ቐ
ଵݒ7 െ ଶݒ10 െ ଷݒ7 ൌ 0

ଶݒ െ ଷݒ ൌ 19
ଵݒ ൅ ଷݒ3 ൌ 0

ቐ
ଵݒ ൌ 15ܸ
ଶݒ ൌ 14ܸ
ଷݒ ൌ െ5ܸ

݅ௗ௘௣ ൌ ݅ଵ ൅ ݅௫ ൌ
15 െ 14

3
൅
15 ൅ 5
4

ܣ ൌ
16
3
ܣ ൌ ܣ5.333

Due to the floating voltage source, 
a supernode needs to be formed

KCL at supernode: ݅ଵ െ ݅ଶ െ ݅ଷ ൅ ݅௫ ൌ 0
By 19V source:       ݒଶ െ ଷݒ ൌ 19
By  3݅௫ dep source:  ݒଵ ൌ 3݅௫


